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X 70,942 157,318 75,253 82,065 | =& ILUET2T 963 2,170 1,061 1,109
BURXEBILETST 1,916 4,034 1,773 2,261
BEKET1T 866 1,924 923 1,001 [BEFILATAT 739 1,928 927 1,001
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It RERST 114 211 108 103 | 1,651 3,717 1,772 1,945
£ 1,395 2,652 1,333 1,319 (A RERTT 67 169 77 92
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JtfEBEET2T 1,082 2,484 1,192 1,292 |FARERTI3T 265 382 117 265
JtfEEET3T 865 1,697 847 850 (B RERT4T 117 173 63 110
JtfEEET4T 876 1,994 980 1,014 |FaRERST 137 309 143 166
g 3,030 6,622 3,229 3,393 &t 749 1,390 583 807
B AITET 5 5 4 1 |FEa{c mHT 2,092 4,962 2,436 2,526
ERATET1T 601 1,570 782 788 | = AHT 247 466 245 221
ERATET2 T 316 751 367 384 |BEEERMETTT 227 449 223 226
ERATET3T 321 806 390 416 |BEE ERMET2T 448 939 466 473
g 1,243 3,132 1,543 1,589 (B E B RMMET3T 669 1,494 723 771
==Yl 1,009 2,245 1,063 1,182 (B E B RMMETAT 646 1,357 675 682
RERENT 236 484 229 255 (B & B IRMEETS T 696 1,683 822 861
HERE2T 413 735 322 413 B 2,686 5,922 2,909 3,013
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HERET4T 140 292 139 153 (B E BigdtET2T 416 881 432 449
g 1,049 2,019 946 1,073 |BE S B#EILET3T 544 1,117 549 568
HEREETT 1,649 3,404 1,565 1,839 |BEE B#EILET4T 548 1,155 559 596
HEREET2T 3,091 6,783 3,228 3,555 B EEHMEILETS T 720 1,682 804 878
HEFET3T 3,170 6,452 2,914 3,538 B 2,438 5,207 2,524 2683
HEMETAT 2,351 4,763 2,119 2,644 |EEEHEETTT 961 1,967 934 1,033
HEMETST 1,237 2,711 1,313 1,398 (B E BiBAT2T 130 284 146 138
5| 11,498 24113 11,139 12,974 |[BEE#ERT3T 2,166 4,603 2,207 2,396
FUEET1T 767 2,164 1,058 1,106 B 3,257 6,854 3,287 3,567
HYERT2T 514 1,318 656 662 |BEERZET 633 1,457 689 768
g 1,281 3,482 1,714 1,768 |[BE BT ZET2T 470 1,028 486 542
=T 6 6 5 1| BEETZET3T 312 787 385 402
EET1T 412 992 487 505 B 1,415 3,272 1,560 1,712
MmEET2T 300 762 358 404 |BEEEARETT 652 1,316 666 650
g 718 1,760 850 910 |BEEBEARMT2T 241 581 289 292
HAEETIT 737 1,941 939 1,002 (BEEARBIIT 1,034 2862 1,394 1,468
HARET2T 215 483 232 251 B 1,927 4,759 2,349 2,410
RT3 T 701 1,535 765 770 |BEE BIEmMETT 297 677 324 353
g 1,653 3,959 1,936 2,023 |EE BMEMET2T 216 488 227 261
RKEIRAT 5218 12,043 5,881 6,162 |B & BMEFRETST 567 1,278 639 639
hREMT 267 539 254 285 g 1,080 2,443 1,190 1,253
hRER2T 204 377 169 208 |/\TFdt 91 202 96 106
hRER3T 240 512 245 267
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B 982 1,990 940 1,050
o A BT 558 1,170 550 620
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hEEEET2T 760 1,302 619 683
hEEEET3T 428 1,069 511 558
hEEEET4T 643 1,368 670 698
hEEEETST 836 1,765 845 920
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5t| 6,491 13,063 6,227 6,836
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